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QUESTION 1

Let us denote sending of p as !p and receiving p as ?p. Which trace defines the interaction N in the exhibit? 

A.  

B.  

C.  

D.  

Correct Answer: C 

 

QUESTION 2

What does a rectangle on the border of an activity diagram (as depicted in the exhibit) esent in UML 2.0 activity
diagrams? 

A. pin 

B. port 
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C. place 

D. entry state 

E. parameter node 

Correct Answer: E 

 

QUESTION 3

What is a relationship in UML 2.0? 

A. the state of being related 

B. an element that has no derived union 

C. an element that has no derived composition 

D. an element that must have two owned elements 

E. an element that specifies a connection between elements 

Correct Answer: E 

 

QUESTION 4

If the rectangle in the exhibit has one value, how many of the arrows will be given the value? 

A. none 

B. one 

C. two 

D. three 

Correct Answer: B 

 

QUESTION 5

What does the execution occurrence in the exhibit convey? 
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A. the sending of r 

B. that the operation v is called 

C. the return of the reply from having performed the operation v 

D. the execution of the behavior associated with the operation v on b 

Correct Answer: D 
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